&J doubtnut

India's Number 1 Education App

MATHS

BOOKS - NAGEEN PRAKASHAN ENGLISH

PROBABILITY

Solved Example Type

1. Find the probability of getting head in a toss of one coin:

o Watch Video Solution

2. If two coins are tossed simultaneously, find the probabilities

of the following events:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KMKyfzc2AjiR
https://dl.doubtnut.com/l/_jVrkpkO50KLD

(i) two heads
(ii) at least one head

(iii) at most one head.

° Watch Video Solution

3. If three coins are tossed simultaneously, find the probability
of getting:

(i) two heads

(ii) one head and two tails

(iii) at least one head

° Watch Video Solution

4.1n a throw of a dice, find the probability of:

(i) getting a multiple of 3


https://dl.doubtnut.com/l/_jVrkpkO50KLD
https://dl.doubtnut.com/l/_FrHJMmy8ILUm
https://dl.doubtnut.com/l/_tyiGuFCPl9Nh

(ii) getting a number which is not a multiple of 3.

° Watch Video Solution

5. A card is drawn at random from a well shuffled pack of 52
cards. Find the probability that card drawn is:

(i) an ace

(ii) a heart

(iii) black

(iv) either an ace or black.

° Watch Video Solution

6. There are 30 tickets numbered from 1 to 30. A ticket is drawn
at random, find the probability of getting a ticket whose number

is:


https://dl.doubtnut.com/l/_tyiGuFCPl9Nh
https://dl.doubtnut.com/l/_0QsZqsXtb2YZ
https://dl.doubtnut.com/l/_Jx5xR1lYo1UO

(i) multiple of 3
(ii) multiple of 7

(iii) multiple of 3 or 7

o Watch Video Solution

7. There are 5 red and 3 black balls in a bag. A red ball is drawn

at random. Find its probability.

° Watch Video Solution

8.There are 5 black and 4 red balls ina bag. Two balls are drawn

at random. Find the probability that both balls are red.

° Watch Video Solution



https://dl.doubtnut.com/l/_Jx5xR1lYo1UO
https://dl.doubtnut.com/l/_yigYzXDj6OGf
https://dl.doubtnut.com/l/_cHyxhjaTHfID

9. Find the probability of getting the same number of two dice

in a single throw of two dice.

° Watch Video Solution

3
10. The probability of the occurrence of an event is —. Find the

7

probability of the non occurrence of the event.

° Watch Video Solution

11. The odds in favour of an event are 3: 2. Find the probability

of the occurrence of the event.

° Watch Video Solution



https://dl.doubtnut.com/l/_KUAcPDvTSCVU
https://dl.doubtnut.com/l/_dE2sUdSmvOK7
https://dl.doubtnut.com/l/_WuMt0srVWdWB

12. The odds against of an event are 3: 4. Find the probability of

the occurrence of the event.

° Watch Video Solution

13. Find the probability of 53 Sundays in an ordinary year.

° Watch Video Solution

14. In a horse -race, the probabilities to win the race for three

1 1 1
horses AB and C are T35 and 5 respectively. Find the

probability to win the race of any one horse.

° Watch Video Solution



https://dl.doubtnut.com/l/_xjT2D68nbTZR
https://dl.doubtnut.com/l/_uARa7Ty3B7aP
https://dl.doubtnut.com/l/_tevhQ0deG5x7

15. Find the probability of getting a sum of 9 or 10 in a throw of

two dice.

° Watch Video Solution

1
16. The probability of appointment of A at a post is b} and
1
probability of appointment of B is 3 If only one can be

appointment, then find its probability.

° Watch Video Solution

17. Find the probability of getting two heads in two tosses of a

coin.

° Watch Video Solution



https://dl.doubtnut.com/l/_CARXS5NLZmXR
https://dl.doubtnut.com/l/_Px9xqOcig1dq
https://dl.doubtnut.com/l/_R7scI12ngxIV
https://dl.doubtnut.com/l/_lrUXsci4sQ2R

18. The probability of solving a problem of mathematic for A and

1

1
B are 3 and 5 respectively. If both try the problem, find the

probability that the problem will be solved.

° Watch Video Solution

19. There are 4 red and 5 white balls in a bag. A ball is drawn at
random and then again a ball is drawn from the remaining balls.

Find the probability that both drawn balls are red.

° Watch Video Solution

20. Four cards are drawn from a pack of 52 cards without

replacement. Find the probability that all of them are jack.

o Watch Video Solution



https://dl.doubtnut.com/l/_lrUXsci4sQ2R
https://dl.doubtnut.com/l/_bVVXTESKiwPL
https://dl.doubtnut.com/l/_4wavi1EFnhE9

21. Find the probability of getting 5 at least once in there throws

of a dice.

° Watch Video Solution

22. There are 8 white and 7 black balls in first bag and 9 white
and 6 black balls are in second bag. One ball is drawn from each

bag. Find the probability that both are of the same colour.

° Watch Video Solution

23.There are 6 red and 4 white balls in a bag. Two-Two balls are
drawn two times from this bag such that before drawing the

balls second time the balls replaced in the bag which were


https://dl.doubtnut.com/l/_vGsjEuq9FqeP
https://dl.doubtnut.com/l/_EdWBXDOb5CwS
https://dl.doubtnut.com/l/_JXuC6dfOEMbQ

drawing first time. Find the probability of getting 2 red balls in

first time and 2 white in second time.

° Watch Video Solution

24.There are 5 red and 3 black balls in first bag and 4 red and 5
black balls i second bag. A ball is drawn from one of the bags.

Find the probability that the ball drawn is red.

° Watch Video Solution

3 3
25. The probabilities of hitting a target by A, B and C are 51
1
and 3 respectively.
If all three hits the target simultaneously then find the

probability of hitting the target by the least two of them.

° Watch Video Solution



https://dl.doubtnut.com/l/_JXuC6dfOEMbQ
https://dl.doubtnut.com/l/_7PRlowxIIF19
https://dl.doubtnut.com/l/_2gQ6P2KyW4ti

26. Two coins are tosses simultaneously. Find the probability of
getting:

(i) one head

(ii) at least one head

(iii) no tail

° Watch Video Solution

27. A dice a thrown once. Find the probability of getting
(i) 5

(ii) a number greater than 2

(iii) 7

(iv) an odd number

° Watch Video Solution



https://dl.doubtnut.com/l/_2gQ6P2KyW4ti
https://dl.doubtnut.com/l/_4B3FvYuaJKyi
https://dl.doubtnut.com/l/_YbkDQk3OfMwm

28. Find the probability of getting the sum of numbers on two

dice (i) 9 (ii) at least 9, in one throw of a pair of dice.

° Watch Video Solution

29.There are 6 red and 4 black balls in a bag. A ball is drawn at

random. Find the probability that the ball drawn is red.

° Watch Video Solution

30. There are 5 white and 4 red balls in a bag. Two balls are

drawn at random. Find the probability that both balls are white.

° Watch Video Solution



https://dl.doubtnut.com/l/_WOkgNcG3FuEw
https://dl.doubtnut.com/l/_wQ07gFGCPvxo
https://dl.doubtnut.com/l/_d2Zkci3WVs5g

31. A card is drawn a from a well shuffled pack of 52 cards. Find
the probability that card drawn is:

(i) black

(ii) black jack

(iii) black or a king

° Watch Video Solution

3
32. The probability of happening of an event is 5 Find the

probability of not happening the event.

° Watch Video Solution

33.The odds in favour of an event are 2: 3. Fin the probability of

the occurrence of the event.

| & - |


https://dl.doubtnut.com/l/_T4ld5XjrCv2T
https://dl.doubtnut.com/l/_PQFk4lO5ZYRv
https://dl.doubtnut.com/l/_XeLFwzbyIyDQ

[ W Watch Video Solution ]

34.Two dice are thrown simultaneously find:
(i) Odds in favour of getting the sum of numbers
9 on two dice,

(ii) odds against of getting the sum of numbers 8 on two dice.

° Watch Video Solution

35. Find the probability of getting a sum at least 5 on three dice

in one throw three dice.

o Watch Video Solution

36. There are 25 tickets numbered from 1 to 25. A ticket is drawn

at random. Find the probability that the number of that ticket is


https://dl.doubtnut.com/l/_XeLFwzbyIyDQ
https://dl.doubtnut.com/l/_yMZbKNnIXYkR
https://dl.doubtnut.com/l/_bsKwXM36l4bU
https://dl.doubtnut.com/l/_v34d8sLSzGqY

either a multiple of 2 or multiple of 3.

° Watch Video Solution

N =

37. For two events E; and E,, P(E;) = —, P(E;) = - and

P(E; N Ey) = L Find:
( 1 2) — 10‘ Ina:
(i) P(EqorEy)

(ii) P(E but not Es)

(i) P(E;but notEy )

o Watch Video Solution

38. The probabilities of the occurrence of two events E; and E,
are 025 and 0.50 respectively. The probability of their
occurrence simultaneously is 0.5, find the probability that

neither E/; nor E5 will occur.



https://dl.doubtnut.com/l/_v34d8sLSzGqY
https://dl.doubtnut.com/l/_0m2IY4dxichH
https://dl.doubtnut.com/l/_Q6VLPfzhZUZY

| @ Watch Video Solution

39. The Probability that at least one of the events E; and E, will

occur is 0.6. If the probability of their occurrence simultaneously

is 0.2, then find P(E,) + P(E,)

o Watch Video Solution

40. If FE; and E; be two events such that
P(E;) = 0.3, P(E;) = 0.2and P(E; N E,) = 0.1, then find:

(i) P(E; N EBy) (ii) P(Ey, N E,)

° Watch Video Solution

41. A card is drawn from a well shuffled pack of 52 cards. Find the

probability that it is heart or a king .


https://dl.doubtnut.com/l/_Q6VLPfzhZUZY
https://dl.doubtnut.com/l/_pBt2zi9rhRFC
https://dl.doubtnut.com/l/_nK62lRLCshdf
https://dl.doubtnut.com/l/_wNu85BNn0Mp0

° Watch Video Solution

42. A pair of dice is thrown once. Find the probability that

neither a doublet nor a total of 10 will appear.

° Watch Video Solution

43. In a town of 6000 people 1200 are over 50 years old and
2000 are female. It is known hat 30% of the females are over 50
years. What is the probability that a random chosen individual

from the town either female or over 50 year?

° Watch Video Solution



https://dl.doubtnut.com/l/_wNu85BNn0Mp0
https://dl.doubtnut.com/l/_s24q2ZQIQFhy
https://dl.doubtnut.com/l/_gRMqxO3sTEnX

44.1f A and B are two mutually exclusive and exhaustive events

3
and P(B) = EP(A)’ then find P(A).

° Watch Video Solution

45. A and B are two events such that P(A) = 0.54,
P(B) = 0.69and P(AN B) = 0.35Find () P(AUB) (i)

P(A'nB') (i) P(ANB') (ivyP(BN A'")

° Watch Video Solution

Exercise

1.In a throw of a single dice, find the probability of getting:

(i) a multiple of 2


https://dl.doubtnut.com/l/_M9IEYPD4LX7Q
https://dl.doubtnut.com/l/_g9Lyj75YbFnt
https://dl.doubtnut.com/l/_MhEctZei8HG7

(ii) an odd number

(ili) a number greater than 3.

° Watch Video Solution

2.In two throw of a dice find the probability of getting:

asumof9

° Watch Video Solution

3. Find the probability of getting one head and one tail in one

toss of two coins.

° Watch Video Solution

4.Find the probability of 53 Mondays in a leap year.


https://dl.doubtnut.com/l/_MhEctZei8HG7
https://dl.doubtnut.com/l/_7ajRL27ndcEa
https://dl.doubtnut.com/l/_sQdv7e14YOon
https://dl.doubtnut.com/l/_ygyKSRCBEbsb

° Watch Video Solution

5. Find the probability of 53 Sundays and 53 Mondays in a leap

year.

° Watch Video Solution

6. Find the probability of drawing a king from a well shuffled

pack of 52 cards.

° Watch Video Solution

7.A card is drawn from a sell shuffled pack of 52 cards. Find the
probability of getting:

(i) a red card


https://dl.doubtnut.com/l/_ygyKSRCBEbsb
https://dl.doubtnut.com/l/_0YlbHyQKVepb
https://dl.doubtnut.com/l/_vsc7ohu5ySbq
https://dl.doubtnut.com/l/_crWmDM0S6LgE

(ii) a diamond

(iii) a red card or a jack.

° Watch Video Solution

8.There are 20 tickets numbered 1 to 20. A ticket is drawn. Find
the probability of drawing a ticket whose number is:

(i) a multiple of 3

(ii) a multiple of 5

(iii) a multiple of 3 or 5.

° Watch Video Solution

9. There a 9 red and 5 black balls in a bag. A black ball is drawn

at random. Find its probability.

° Watch Video Solution



https://dl.doubtnut.com/l/_crWmDM0S6LgE
https://dl.doubtnut.com/l/_vCJNrqooGe6z
https://dl.doubtnut.com/l/_0EdUFXye7P07

10. There are 5 red, 4 black and 3 blue balls in bag. A ball is
drawn at random. Find the probability that the ball drawn is:
(i) black

(ii) red or black.

° Watch Video Solution

11. There are 4 white and 6 black balls in a bag. Two balls are
drawn at random. Find the probability that both balls drawn are

black.

° Watch Video Solution

12. There are 5 black and 6 red balls in a bag. If 3 balls are drawn

at random, find the probability that these balls are black.


https://dl.doubtnut.com/l/_0EdUFXye7P07
https://dl.doubtnut.com/l/_zmlkxNBXUoAM
https://dl.doubtnut.com/l/_n2CZas6LoUHl
https://dl.doubtnut.com/l/_wRbZh0QvgR7F

° Watch Video Solution

13. The odds in favour of occurrence of an event are 2:5. Find

the probability of the occurrence of the event.

° Watch Video Solution

14. The odds in favour of the occurrence of an event are 3:5.

Find the probability of the non-occurrence of the event.

° Watch Video Solution

15. The odds against of the occurrence of an event are 4: 5 . Find

the probability of the occurrence of the event.

° Watch Video Solution



https://dl.doubtnut.com/l/_wRbZh0QvgR7F
https://dl.doubtnut.com/l/_5wWSvQfc5ODT
https://dl.doubtnut.com/l/_l4DG7OoiARXT
https://dl.doubtnut.com/l/_5masbxRzFbhg

16. The odds against of the occurrence of an event are 6: 7. Find

the probability of the non-occurrence of the event.

° Watch Video Solution

17. In a class of 50 students, 20 are boys and rest are girls. A
student is selected at random. Find the probability of selecting

a boy.

° Watch Video Solution

3
18. The probability of the occurrence of an event is 10 Find the

probability of non-occurrence of the event.

° Watch Video Solution



https://dl.doubtnut.com/l/_5masbxRzFbhg
https://dl.doubtnut.com/l/_oON88sQtZFml
https://dl.doubtnut.com/l/_QLQBqhlWLFXB
https://dl.doubtnut.com/l/_53kWK52A90p1

2
19. The probability of the non-occurrence of an event is 7 Find

the probability of the occurrence of the event.

° Watch Video Solution

2
20.In a horse race, the probability that horse A can win is 5 and

1
the probability that horse B can win is T Find the probability

that any one can win the race.

° Watch Video Solution

1
"4

wW|

21. The probabilities that three children can win a race are

1
and 5 Find the probability that any one can win the race.

° Watch Video Solution



https://dl.doubtnut.com/l/_53kWK52A90p1
https://dl.doubtnut.com/l/_KXoHqKwdj5yK
https://dl.doubtnut.com/l/_6wSjgQVcx1Om
https://dl.doubtnut.com/l/_R1HBNY7RurNi

22.In an essay competition, the odds in favour of competitors P,
Q, R S are 1:2, 1:3, 1:4, and 1:5 respectively. Find the probability

that one then win the competitions.

° Watch Video Solution

23.In two independent events the probability of happening one
2
event is = and probability of happening of second event is 5

Find the probability of happening of both events.

° Watch Video Solution

24.Find the probability of getting tail each time in three tosses

of a coin.

° Watch Video Solution



https://dl.doubtnut.com/l/_zB1BVxpUmerT
https://dl.doubtnut.com/l/_cKwUHviX29bY
https://dl.doubtnut.com/l/_ACSHv5CAIOzH

25.Find the probability of getting 3 each time in three throws a

dice.

° Watch Video Solution

26. Find the probability of getting at least one head in three

throws of a coin.

° Watch Video Solution

27. Find the probability of getting 5 at most 3 times in four

throws of a dice.

° Watch Video Solution



https://dl.doubtnut.com/l/_ACSHv5CAIOzH
https://dl.doubtnut.com/l/_q8KKi2dxX1eD
https://dl.doubtnut.com/l/_DkQdkQO7lwH6
https://dl.doubtnut.com/l/_z9loF9A8ZPwZ
https://dl.doubtnut.com/l/_S8mVP422fUvF

28. The probability of happening of an event is 0.6 for one
experiment. In three such experiments, find the probability of

happening the event at least one time.

o Watch Video Solution

29. A can hit a target 4 times out of 5 trial. B can hit 3 times of 4
trials and C can hit 2 times out of 3 trials. If all three hit the

target sumultaneously, find the probability of hitting the target.

° Watch Video Solution

30. ‘A’ can hit the target 3 times out of 5 times, ‘B’ can hit 2 times
out of 5 and ‘C’ can hit 3 times our of 4. They aim at each other
simultaneously. What is the probability that 2 out of ‘A,B’ and ‘C’

will hit the target?



https://dl.doubtnut.com/l/_S8mVP422fUvF
https://dl.doubtnut.com/l/_b6n6eVlgtnrD
https://dl.doubtnut.com/l/_U3fxAuL6djxg

| ° Watch Video Solution

31. The probability to pass in an examination of mathematics for

1

1
three students are 155 Find the probability that at least

two students will pass in this examination.

° Watch Video Solution

32. The probability of solving a problem by three students are

1 1 1

ERVES Find the probability that the problem will be solved if

all three students try the problem simultaneously.

° Watch Video Solution



https://dl.doubtnut.com/l/_U3fxAuL6djxg
https://dl.doubtnut.com/l/_mTG2goFnMM1W
https://dl.doubtnut.com/l/_utfsj2AauAIh

33.There are 5 red and 7 white balls in one bag and 3 red and 8
white balls in second bg. If a ball is drawn at random from one

the bags, find the probability that it is red.

° Watch Video Solution

34.There are 5 red and 5 black balls in first bag and 6 red and 4
black balls is second bag. One -one ball is drawn from each bag.
Find the probability that:

(i)both balls are of the same colour,

(ii) one ball is red and other is black.

° Watch Video Solution



https://dl.doubtnut.com/l/_LZkCaChgcyTi
https://dl.doubtnut.com/l/_9fzvbj76PPpU

35. There are 4 white and 3 black balls in a bag. Find the
probability of drawing 2 white ball one by one without

replacement.

° Watch Video Solution

36. There are 8 white and 7 black balls in a bag . Three balls are
drawn twice from the bag and balls drawn first time are not
being replaced when the balls are drawn second time. Find the
probability that first three balls drawn are white and second

three balls drawn are black.

° Watch Video Solution



https://dl.doubtnut.com/l/_NUOHaLCSwit5
https://dl.doubtnut.com/l/_2XujdviFMf93

37. Two cards drawn without replacement from a well shuffled

pack of 52 cards. Find the probability that cards drawn are aces.

° Watch Video Solution

38. (i) There are 100 bulbs in a box, out of which 10 are defective.
In a sample of 5 bulbs, what is the probability than no bulb is
defective?

(ii) It is known that 5% of the bulbs manufactured in a factored
are defective. Find the probability that out of 10 randomly

selected bulbs, not more than two are defective.

° Watch Video Solution



https://dl.doubtnut.com/l/_GMJQnDPL1qSv
https://dl.doubtnut.com/l/_YPb6v8RjLfKy

39.In one toss of a coin, find the probability of getting:

(i) head (ii) tail

° Watch Video Solution

40. In one toss of two coins together find the probability of
getting:
(i) two tails

(ii) one head and one tail

° Watch Video Solution

41. In one toss of three coins together, find the probability of

getting:


https://dl.doubtnut.com/l/_BPAcN3uX3a51
https://dl.doubtnut.com/l/_F7b2uijwrfRt
https://dl.doubtnut.com/l/_k7SWWt18Mmrf

(i) two heads and one tail

(ii) at least two tails

° Watch Video Solution

42.In one throw of a dice, find the probability of getting:
(i) an even number
(ii) a multile of 3

(iii) a number greater than 4

o Watch Video Solution

43. In one throw of two dice together, find the probability of
getting:
(i) a sum of 5

(i) same number on two dice



https://dl.doubtnut.com/l/_k7SWWt18Mmrf
https://dl.doubtnut.com/l/_tivzXGCLE1Bm
https://dl.doubtnut.com/l/_eJeds74imjwI

| @ Watch Video Solution

44. In one throw of three dice together, find the probability of
getting:

(i) same number on three dice

(ii) a sum less than 6

(iii) a sum at least 6

° Watch Video Solution

45. A card is drawn from a well shuffled pack of cards.
Find the probability of getting:
(i) a card of heart

(i) a king

° Watch Video Solution



https://dl.doubtnut.com/l/_eJeds74imjwI
https://dl.doubtnut.com/l/_vsFUSYOrqmqH
https://dl.doubtnut.com/l/_PFE4Zt3H9Kxf

46. There are two children in a family. Find the probability that

at most one boy is there in the family.

° Watch Video Solution

47. There are 7 red, 5 black and 3 white balls in a bag. A ball is
drawn at random. Find the probability that ball drawn is:

(i) white

(ii) not white

(iii) either red or white.

° Watch Video Solution

48. There are 12 tickets numbered 1 to 12. A ticket is drawn at

random. Find the probability that the number on this ticket is


https://dl.doubtnut.com/l/_Z4glBAgQrR4C
https://dl.doubtnut.com/l/_qJ7x2H9ovZZi
https://dl.doubtnut.com/l/_RSkcHG4KxFMw

either a multiple of 3 or 4.

° Watch Video Solution

3
49.The probability of the occurrence of an event is 3 Find the

probability of the non-occurrence of the event.

° Watch Video Solution

5
50. The probability of non-occurrence of an event is ETR Find

the probability of the occurrence of the event.

° Watch Video Solution

51. The odds in favour of an event are 3:4. Find the probability

of the non occurrence of the event.


https://dl.doubtnut.com/l/_RSkcHG4KxFMw
https://dl.doubtnut.com/l/_S6G5CBdP4MYv
https://dl.doubtnut.com/l/_V2eX6ILUpJba
https://dl.doubtnut.com/l/_ipPDqPdbhCWg

o Watch Video Solution

52. The odds against of an event 5: 3. Find the probability of the

occurrence of the event.

° Watch Video Solution

53. There are 15 prizes and 25 blaks in a lottery. Find the

probability of getting a prize on one ticket.

o Watch Video Solution

54. Two dice are thrown. Find the odds in favour of getting the

sum 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_ipPDqPdbhCWg
https://dl.doubtnut.com/l/_YiUCt7SCg47t
https://dl.doubtnut.com/l/_SPuxgPBSxRfO
https://dl.doubtnut.com/l/_jt6kYxr3PqxM

55. Two letters are drawn from the english alphabets.

Find the probability that both letters are vowels.

° Watch Video Solution

56. A and B are two events such that P(A) = 0.5, P(B) = 0.4

and (AorB) = 0.6, then find P(AandB).

° Watch Video Solution

57. A and B are two events such that
P(A) = 0.60, P(AorB) = 0.85 and P (A and B = 0.42, then

find P(B).

° Watch Video Solution



https://dl.doubtnut.com/l/_jt6kYxr3PqxM
https://dl.doubtnut.com/l/_LgOjKFd6q74q
https://dl.doubtnut.com/l/_kVctrBy1cawO
https://dl.doubtnut.com/l/_nwo0fG4A8YUp

58. (i) A and B are two events in a random experiment such that
P(AUB) =0.7,P(ANB) =03 and P(A) =04, find

P(B)

2
(i) 1f P(4) = ZP(B) = % and P(AN B) = % then find

the value of P(A U B) and P(A’' N B’)

° Watch Video Solution

1
59. For two mutually exclusive events A and B, P(A) = 3 and
1
P(B) = T find (A U B).

° Watch Video Solution

60. A, B, C are three mutually exclusive and exhaustive events

associated with a random experiment. Find P(A) , it being


https://dl.doubtnut.com/l/_nwo0fG4A8YUp
https://dl.doubtnut.com/l/_5dkPnyEZazt4
https://dl.doubtnut.com/l/_capZAamByXBc
https://dl.doubtnut.com/l/_JkISzvfyEWdv

given that P(B) = %P(A) and P(C) = %P(B)-

° Watch Video Solution

61. A number is selected at random from first 200 natural

numbers. Find the probability that it is divisible by either 6 or 8.

° Watch Video Solution

62. A card is drawn at random from a well shuffled pack of 52

cards. Find the probability that it is either an ace or spade.

° Watch Video Solution

63. A card is drawn at random from a well shuffled pack of 52

cards. Find the probability that it is either red or a king.


https://dl.doubtnut.com/l/_JkISzvfyEWdv
https://dl.doubtnut.com/l/_H1Fqhj39IlGg
https://dl.doubtnut.com/l/_PBhhL1gd439l
https://dl.doubtnut.com/l/_ENrD896BUXNV

° Watch Video Solution

64. Two cards are drawn at random from a well shuffled pack of
52 cards. Find the probability that the cards drawn are either

red or aces.

° Watch Video Solution

65. A pair of dice is thrown once. Find the probability of getting

an even number on the first side.

° Watch Video Solution

66. A dice is thrown twice. Find the probability of getting 3 at

least one time.



https://dl.doubtnut.com/l/_ENrD896BUXNV
https://dl.doubtnut.com/l/_iuhLdHZFVDva
https://dl.doubtnut.com/l/_EHuxfiudElN9
https://dl.doubtnut.com/l/_ZKVWVJRErvMA

| @ Watch Video Solution

67. A card is drawn from a well shuffled pack of 52 cards. What is

the probability that neither a spade nor a king will drawn?

° Watch Video Solution

1
68. The probability of the occurrence of event A is 3 and the
1
probability of the occurrence of event B is T Find the
probability that neigher A nor B will occur, it is given that A and

B are mutually exclusive events.

° Watch Video Solution

69. There are 60% students in Maths and 30% in Biology. If 10%

students are in both subjects. Find the probability that a


https://dl.doubtnut.com/l/_ZKVWVJRErvMA
https://dl.doubtnut.com/l/_nKVAxVYWTX7w
https://dl.doubtnut.com/l/_lqjeK9PvOCPG
https://dl.doubtnut.com/l/_AhiuR7GuEndk

randomly selected student has Maths or Biology.

° Watch Video Solution

70. There are 100 bolts and 50 nuts in a box, out of which 50%
bolts and 50% nuts are defective. Two items are drawn at
random from the box, find the probability that both are either

bolts or defective.

° Watch Video Solution

71. Two dice are thrown together. What is the probability that
the sum of the numbers on the two faces si neither divisible by

3 nor by 4?

° Watch Video Solution



https://dl.doubtnut.com/l/_AhiuR7GuEndk
https://dl.doubtnut.com/l/_JtBGvgM5i3fb
https://dl.doubtnut.com/l/_jbxZhtU92Nz7
https://dl.doubtnut.com/l/_Q7nV9EIpTpV4

72. If AB and C are three events, such that P(A)=0.3, P(B)=0.4,
P(C)=0.8, P(AB)=0.08, P(AC)=0.28, P(ABC)=0.09. If
P(A U BUC) > 0.75, then show that P(BC) kies in the interval

0.23 <z <0.48

° Watch Video Solution

1. The one throw of two dice, the probability of getting an even

number of first or a tota of 8 is:

N w
Ol ok o


https://dl.doubtnut.com/l/_Q7nV9EIpTpV4
https://dl.doubtnut.com/l/_gh40PJwaXnEH

Answer: C

° Watch Video Solution

2. Three coins are tossed together. Find the probability of
getting: (i)exactly two heads (ii) at least two heads (iii) at least

one head and one tail (iv) no tails

SR A= W= N

Answer: A

Y.


https://dl.doubtnut.com/l/_gh40PJwaXnEH
https://dl.doubtnut.com/l/_0UR8ZnZ9w4lp

| ¥ Watch Video solution |

3. The probability of the occurrence of an event is =

The probability of non-occurrence of the event is:

®
EN TN § YN § yJC

D. None of these

Answer: B

° Watch Video Solution

4. What is the probability that a leap year selected at random

contains 53 Sunday?


https://dl.doubtnut.com/l/_0UR8ZnZ9w4lp
https://dl.doubtnut.com/l/_iMzdMVFgJyCh
https://dl.doubtnut.com/l/_7VaUcGjkSAvB
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Answer: A

° Watch Video Solution

5. A problem in mathematics is given to 3 students whose

1

1 1
chances of solving it are T What is the probability that

he problem is solved?

@ >

N
W~ N | w


https://dl.doubtnut.com/l/_7VaUcGjkSAvB
https://dl.doubtnut.com/l/_wBlLwVM3Kn6H

Answer: A

o Watch Video Solution

6. There are 5 red and 4 black balls in a bag. The probability of

drawing a red ball is:

=} G SN e)
2o 2l @l [+

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wBlLwVM3Kn6H
https://dl.doubtnut.com/l/_ICmJnyhmaj4r

7. A card is drawn at random from a pack of cards. The

probability that the card drawn is not diamond, is:

—_ = W e
|wo.:a|'—‘ l |

—_
w

Answer: B

° Watch Video Solution

8. The favourable chance of drawing a card of diamond from a

pack of 52 cards is:


https://dl.doubtnut.com/l/_ICmJnyhmaj4r
https://dl.doubtnut.com/l/_aLKqqsllC5h8
https://dl.doubtnut.com/l/_pVMQGK89pPXA

Al:3

B.3:1

C.1:4

D.4:1

Answer: A

° Watch Video Solution

9. The probability of getting a sum of 9 from two throws of a

dice?


https://dl.doubtnut.com/l/_pVMQGK89pPXA
https://dl.doubtnut.com/l/_ZX44BmcW8OZu

5 13
18

Answer: C

o Watch Video Solution

10. In a single throw of three dice, determine the probability of

getting i. total of 5 ii. total of at most 5 ii. a total of at least 5.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZX44BmcW8OZu
https://dl.doubtnut.com/l/_pQ3dsztGw61Y

11. The probability that at least one of the events A and B occurs
is 0.6. If A and B occur simultaneously with probability 0.2, then
find P(A) + P(B).

A.0.2

B.0.4

C.0.8

D. None of these

Answer: D

o Watch Video Solution

12. If there are 6 girls and 5 boys who sit in a row, then the

probability that no two boys sit together is :


https://dl.doubtnut.com/l/_pQ3dsztGw61Y
https://dl.doubtnut.com/l/_GR32223oOplq
https://dl.doubtnut.com/l/_H83x73T3eM9U

616
211
1715

. F
o lolr

2|11

D. None of these

Answer: C

° Watch Video Solution

13. A four digit number is formed using the digits 1, 2, 3, 5 with

no repetitions. Write the probability that the number is divisible

by 5.

e oo~ |k


https://dl.doubtnut.com/l/_H83x73T3eM9U
https://dl.doubtnut.com/l/_bD5jXNDvKOCW

Answer: A

o Watch Video Solution

3 5
14. For two events A and B P(A) = 1 and P(B) = 5 The

false statement is:

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bD5jXNDvKOCW
https://dl.doubtnut.com/l/_99xNKkhf6ys3

15. Twelve balls are distribute among three boxes. The

- . 110 (2"
probability that the first box contains three balls is 5 \3

110 / 2\ " (12)C ~ (12)C
b, — c. g < 29d. &
9 12° 3"

110 / 2\
A — | —
9 \3

3

Answer: A

° Watch Video Solution

16. In one throw of two dice, the probability of getting a number

on first dice smaller than number on second dice, is,


https://dl.doubtnut.com/l/_99xNKkhf6ys3
https://dl.doubtnut.com/l/_atweEnnX8gh6
https://dl.doubtnut.com/l/_Ovp3obllGbAR
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Answer: B

° Watch Video Solution

17. Two numbers are selected from first 40 natural numbers. The

probability that the sum of two number is odd is:


https://dl.doubtnut.com/l/_Ovp3obllGbAR
https://dl.doubtnut.com/l/_HQd7DmfIaCnY

D. None of these

Answer: C

° Watch Video Solution

18.In a single throw of three dice, find the probability of getting

the same number on all the three dice.

5
12
17
72

55
72

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HQd7DmfIaCnY
https://dl.doubtnut.com/l/_UyKPtUFLjOlH

19. Cards are drawn one by one without replacement from a

pack of 52 cards. The probability of the 10th card drawn is first

ace,is:

o 451
- 884

5 378
" 884

164

< 4165

D. None of these

Answer: C

o Watch Video Solution

20. Three integers are chosen at random from the first 20

integers. The probability that their product is even is:


https://dl.doubtnut.com/l/_UyKPtUFLjOlH
https://dl.doubtnut.com/l/_XTTaUIpgEdCi
https://dl.doubtnut.com/l/_ABnEF6jKM0xO

Answer: B

° Watch Video Solution

Ncert Questions

1. Describe the sample space for the indicated experiment : A

coin is tossed three times.

o Watch Video Solution



https://dl.doubtnut.com/l/_ABnEF6jKM0xO
https://dl.doubtnut.com/l/_ox2KWnWDzZio
https://dl.doubtnut.com/l/_aVTTOWztEZhO

2. A dice is thrown two times.describe sample space

° Watch Video Solution

3. Find the number of possible outcomes of tossing a coin four

times.

° Watch Video Solution

4. Describe the sample space for the indicated experiment : A

coin is tossed and a die is thrown.

° Watch Video Solution

5. A coin is tossed and then a die is rolled only in case a head is

shown on the coin.


https://dl.doubtnut.com/l/_aVTTOWztEZhO
https://dl.doubtnut.com/l/_MZ7AmliqdmER
https://dl.doubtnut.com/l/_MKtL8I8QqPpt
https://dl.doubtnut.com/l/_VSTKqtFof9mN

° Watch Video Solution

6.2 boys and 2 girls are in room P and 1 boy 3 girls are in room
Q. write the sample space for the experiment in which a room is

selected and then a person.

° Watch Video Solution

7. Describe the sample space for the indicated experiment : One
die of red colour, one of white colour and one of blue colour are
placed in a bag. One die is selected at random and rolled, its

colour and the number on its uppermost face is noted

° Watch Video Solution



https://dl.doubtnut.com/l/_VSTKqtFof9mN
https://dl.doubtnut.com/l/_uorEE4v9Uarj
https://dl.doubtnut.com/l/_srU7xdfPDdUz

8. An experiment consists of boy girl composition of families
with 2 children. i. What is the sample space if we are interested
in knowing whether it is a boy or girl in the order of their
births? ii. What is the sample space if we are interested in the

number of boys in a family?

° Watch Video Solution

9. A box contains 1 red and 3 identical white balls. Two balls are
drawn at random in succession without replacement. Write the

sample space for this experiment.

° Watch Video Solution



https://dl.doubtnut.com/l/_iQfaHmREYEXa
https://dl.doubtnut.com/l/_REzVMmsuU225

10. An experiment consists of tossing a com and then throwing
it second tune if a head occurs. If a tail occurs on the first toss,

then a die is rolled once. Find the sample space.

° Watch Video Solution

11. Suppose 3 bulbs are selected at random from a lot. Each bulb
is tested and classified as defective (D) or non defective (N).

Write the sample space of this experiment.

° Watch Video Solution

12. A com is tossed. If the outcome is a head, a die is thrown. If
the die shows up an even number, the die is thrown again. What

is the sample space for the experiment?

| & - |


https://dl.doubtnut.com/l/_zcxejsOfpCnw
https://dl.doubtnut.com/l/_XWDcbeNtKG1A
https://dl.doubtnut.com/l/_Q6UBAZRFyUcR

[ W Watch Video Solution ]

13. The numbers 1, 2, 3 and 4 are written separately on four slips
of paper. The slips are put in a box and mixed thoroughly. A
person draws two slips from the box, one after the other,
without replacement. Describe the sample space for the

experimen

° Watch Video Solution

14. An experiment consists of rolling a die and then tossing a
coin once if the number on the die is even. If the number on the
die is odd, the coin is tossed twice. Write the sample space for

this experiment.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q6UBAZRFyUcR
https://dl.doubtnut.com/l/_K2INBwBAysxK
https://dl.doubtnut.com/l/_VmNRRZjO691A
https://dl.doubtnut.com/l/_XkPnH2k6uPP0

15. A com is tossed. If it shows a tail, we draw a ball from a box
which contains 2 red and 3 black balls. If it shows head, we

throw a die. Find the sample space for this experiment.

° Watch Video Solution

16. A die is thrown repeatedly untill a six comes up. What is the

sample space for this experiment?

° Watch Video Solution

17. A die is rolled. Let E be the event die shows 4 and F be the

event die shows even number. Are E and F mutually exclusive?

° Watch Video Solution



https://dl.doubtnut.com/l/_XkPnH2k6uPP0
https://dl.doubtnut.com/l/_yTU0CZ8NaQMl
https://dl.doubtnut.com/l/_KEJbowRrf6Qd
https://dl.doubtnut.com/l/_LgJIG3Sc51aJ

18. A die is thrown. Describe the following events:

(i) A :anumber less than 7

(¢1) B : a number greater than 7

(44)C': a multiple of 3

(iv) D: a number less than 4

(v)E: a even number greater than 4

(vi)F : a number not less than 3

Also find

AUB,ANB,BUC,ENF,DNE,A—-C,D—EENF' F’

o Watch Video Solution

19. An experiment involves rolling a pair of dice and recording
the numbers that come up. Describe the following events: A: the
sum is greater than 8, B: 2 occurs on either die C: the sum is at

least 7 and a multiple of 3. Which pairs of these events



https://dl.doubtnut.com/l/_LgJIG3Sc51aJ
https://dl.doubtnut.com/l/_n0DH5IXnLEfk

| D Watch Video Solution

20. Three coins are tossed once. Let A denote the event "three
heads snow", B denote the event "two heads and one tail show",
C denote the event three tails show and D denote the event "a

head shows on the first coin". Which events are (i) mutually e

o Watch Video Solution

21. Three coins are tossed. Describe (i) Two events which are
mutually exclusive. (ii) Three events which are mutually exclusive
and exhaustive. (iii) Two events, which are not mutually
exclusive. (iv) Two events which are mutually exclusive but not

exhaustiv

° Watch Video Solution



https://dl.doubtnut.com/l/_n0DH5IXnLEfk
https://dl.doubtnut.com/l/_RP8E5EYETrr9
https://dl.doubtnut.com/l/_UkcJIc8o91dY

22. Two dice are thrown. The events A, B and C are as follows:A :
getting an even number on the first die.B : getting an odd
number on the first die.C : getting the sum of the numbers on

the dice 5.Describe the events

o Watch Video Solution

23. Which of the following cannot be valid assignment of
probabilities for outcomes of sample space

S = {wla Wo, W3, Wy, W5, W, w7}?

/ .-\sslgnnmm f
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° Watch Video Solution



https://dl.doubtnut.com/l/_4WGLGKMfHGS5
https://dl.doubtnut.com/l/_dvcPCMtIMS7V

24. A coin a tossed twice, that is the probability that at least one

tail occurs?

° Watch Video Solution

25. A die is thrown, find the probability of following events: (i) A
prime number will appear, (ii) A number greater than or equal to
3 will appear, (iii) A number less than or equal to one will appear,

(iv) A number more than 6 will appear, (v

° Watch Video Solution

26. A card is selected from a pack of 52 cards. (a) How many

points are there in the sample space? (b) Calculate the


https://dl.doubtnut.com/l/_c0KfccCgG5Rb
https://dl.doubtnut.com/l/_NBeWUAjVsWXW
https://dl.doubtnut.com/l/_4YQeZ5PydGxO

probability that the card is an ace of spades. (c) Calculate the

probability that the card is (i) an ace (ii) black card.

° Watch Video Solution

27. A fair coin with 1 marked on one face and 6 on the other and
a fair die are both tossed, find the probability that the sum of

numbers that turn up is (i) 3 (ii) 12

° Watch Video Solution

28.There are four men and six women on the city council. If one
council member is selected for a committee at random how

likely is it that it is a woman?

° Watch Video Solution



https://dl.doubtnut.com/l/_4YQeZ5PydGxO
https://dl.doubtnut.com/l/_zuVhv4skCW3l
https://dl.doubtnut.com/l/_8Si7cImPJbba
https://dl.doubtnut.com/l/_xLYcpFf4lH8A

29. A fair coin is tossed four times, and people win Re 1 for each
head and lose Rs 1.50 for each tail that turns up. From the
sample space calculate how many different amounts of money

you can have after four tosses and the probability of having eac

° Watch Video Solution

30. Three coins are tossed once. Fmd the probability of getting
(i) 3 heads (ii) 2 heads (iii) atleast 2 heads (iv) atmost 2 heads (v)
no head (vi) 3 tails (vii) exactly two tails (vm) no tail (ix) atmost

two tails

° Watch Video Solution

2
31.1If ﬁis the probability of an event, what is the probability of

the event not A


https://dl.doubtnut.com/l/_xLYcpFf4lH8A
https://dl.doubtnut.com/l/_a8aoF7u3oRqD
https://dl.doubtnut.com/l/_UmMHFBE2SPtS

° Watch Video Solution

32. A letter is chosen at random from the word ASSASSINATION.

Find the probability that letter is (i) a vowel (ii) a consonant.

° Watch Video Solution

33.In a lottery, a person choses six different natural numbers at
random from 1 to 20, and if these six numbers match with the
six numbers already fixed by the lottery committee, he wins the

prize. What is the probability of Winning the prize in the

° Watch Video Solution



https://dl.doubtnut.com/l/_UmMHFBE2SPtS
https://dl.doubtnut.com/l/_aTwJx7dBmIM4
https://dl.doubtnut.com/l/_r5Mb36GkKatI

34. Check whether the following probabilities P(A) and P(B)
are consistently defined
(i) P(A) = 0.5, P(B) = 0.7, P(AN B) = 0.6

(i) P(A) = 0.5, P(B) = 0.4, P(A U B) = 0.8

o Watch Video Solution

35.Fill in the blanks in following table:

P(A) P(B) P(AnB) P(AUB)
, 1 1 1
€y 2 = 15
3 5 15
(i)  0.35 0.25 0.6
(iii) 0.5 0.35 0.7

o Watch Video Solution



https://dl.doubtnut.com/l/_Be0l96USzH9R
https://dl.doubtnut.com/l/_mnkABnYPw3Tn

3 1
36.Give P(A) = gand P(B) = g-Find P(A or B),ifAand B

are mutually exclusive events.

° Watch Video Solution

—1PF—1 d
_47()_2an

1
P(FandF) = 3 find (i) P(EorF) (ii) P (not E and not F).

37.If E and F are events such that P(E)

° Watch Video Solution

38. Events E and F are such that P(—FE or —F) = 0. 25, State

whether E and F are mutually exclusive.

° Watch Video Solution



https://dl.doubtnut.com/l/_FGb3IRIs3IX4
https://dl.doubtnut.com/l/_jkB5Nf2M0U8I
https://dl.doubtnut.com/l/_sLJAm4GPawxf

39. A and B are events such that P(A) = 0.42, P(B) = 0.48
and P(AandB) = 0. 16. Determine (i) P(not A), (ii) P(not B) and

(iii) P(A or B)

° Watch Video Solution

40. In class XI of a school 40% of the students study
Mathematics and 30% study Biology. 10% of the class study
both mathematics and biology. If a student is selected at
random from the class, find the probability that he will be

studying Mathematics or Biology or both.

° Watch Video Solution



https://dl.doubtnut.com/l/_W37MAvcJvOWz
https://dl.doubtnut.com/l/_dSf0pznenJMP

41. In an entrance test that is graded on the basis of two
examinations, the probability of a randomly chosen student
passing the first examination is 0.8 and the probability of
passing the second examination is 0.7. The probability of

passing atleas

° Watch Video Solution

42.The probability that a student will pass the final examination
in both English and Hindi is 0.5 and the probability of passing
neither is 0.. If the probability of passing the English
examination is 0.75. What is the probability of passing the Hindi

examination?

° Watch Video Solution



https://dl.doubtnut.com/l/_SaHuv2nuTN0A
https://dl.doubtnut.com/l/_JbpfGZcFrlbq
https://dl.doubtnut.com/l/_Lz89dspjJ48A

43.1n a class of 60 students, 30 opted for NCC, 32 opted for NSS
and 24 opted for both NCC and NSS. If one of these students is
selected at random. (i) Find the probability that student opted
for NCC or NSS. (ii) Probability that the student has opted

neither NCC nor NSS.

° Watch Video Solution

Miscellaneous Exercise

1. A box contains 10 red marbles, 20 blue marbles and 30 green

marbles. 5 marbles are drawn from the box, what is the

probability that (i) all will be blue (ii) atleast one will be green?

° Watch Video Solution



https://dl.doubtnut.com/l/_Lz89dspjJ48A
https://dl.doubtnut.com/l/_M5XQccNFaVgC

2.4 cards are drawn from a well - shuffled deck of 52 cards. What

is the probability of obtaining 3 diamonds and one spade?

° Watch Video Solution

3. A die has two faces each with number 1, three faces each with
number 2 and one face with number 3. If die rolled once

determine: i. P(2) ii. P(1 or 3) iii. P(not 3)

° Watch Video Solution

4. In a lottery 10,000 tickets are sold and ten equal prizes are
awarded,. What is the probability of not getting a prove if you

buy i. 1 ticket ii. two tickets iii. 10 tickets.

° Watch Video Solution



https://dl.doubtnut.com/l/_wmyRnPtqwwjf
https://dl.doubtnut.com/l/_0hlHazEG66RZ
https://dl.doubtnut.com/l/_ph2EyVyAgeZq

5. Out of 100 students, two sections of 40 and 60 are formed. If
you and your friend are among the 100 students, what is the
probability that (a) you both enter the same section? (b) you

both enter the different sections?

° Watch Video Solution

6. Three letters are dictated to three persons and an envelope is
addressed to each of them, the letters are inserted into the
envelopes at random so that each envelope contains exactly one

letter. Find the probability that at least one letter is in

° Watch Video Solution



https://dl.doubtnut.com/l/_ph2EyVyAgeZq
https://dl.doubtnut.com/l/_1LQUDeHm9uAf
https://dl.doubtnut.com/l/_73DspbxqNGvS

7.A and B are two events such that P(A) = 0.54, P(B) = 0.69
and P(A N B) = 0.35.
(i) P(A U B) (i) P(A’ N B’)

(i) PLANB’) (ivy P(BN A”)

o Watch Video Solution

8. From the employees of a company, 5 persons are selected to
represent them in the managing committee of the company.

Particulars of five persons are as follows:

No. Name Sex Age in yearj
1. Harish M 30 J
2. Rohan M 33 X
3. Sheetal F 46 j
4. Alis F 28 |
s | salim M n |

A person is selected at random from this group to act as a


https://dl.doubtnut.com/l/_thYjLWgZ2lep
https://dl.doubtnut.com/l/_tTklICjoSVoS

spokeperson. What is the probability that the spokesperson wil

be either male or over 35 years?

o Watch Video Solution

9. If 4-digit numbers greater than 5,000 are randomly formed
from the digits 0, 1, 3, 5. and 7. what is the probability of forming
a number divisible by 5 when, (i) the digits are repeated? (ii) the

repetition of digits is not allowed?

° Watch Video Solution

10. The number lock of a suitcase has 4 wheels, each labelled
with ten digits i.e.,, from O to 9. The lock opens with a sequence
of four digits with no repeats. What is the probability of a

person getting the right sequence to open the suitcase?



https://dl.doubtnut.com/l/_tTklICjoSVoS
https://dl.doubtnut.com/l/_JB3P6NUzIyED
https://dl.doubtnut.com/l/_FoUe2qHpkiE9

| @ Watch Video Solution



https://dl.doubtnut.com/l/_FoUe2qHpkiE9

